
(P1, P2, P3, P4, P5, P6)
(6(factory), -, -, 3(client), -, 4(bufSpace))

(0, 0, 0, 0, 0, 0)

(5(factory), (factory), -, 3(client), -, 4(bufSpace))
(0, 0, 0, 0, 0, 0)

(T1, (factory/p))/0

(4(factory), 2(factory), -, 3(client), -, 4(bufSpace))
(0, 0, 0, 0, 0, 0)

(T1, (factory/p))/0

(6(factory), -, (bufSpace), 3(client), -, 3(bufSpace))
(0, 0, 0, 0, 0, 0)

(T2, (bufSpace/b, factory/p))/0

(3(factory), 3(factory), -, 3(client), -, 4(bufSpace))
(0, 0, 0, 0, 0, 0)

(T1, (factory/p))/0

(5(factory), (factory), (bufSpace), 3(client), -, 3(bufSpace))
(0, 0, 0, 0, 0, 0)

(T2, (bufSpace/b, factory/p))/0

(T1, (factory/p))/0

(6(factory), -, -, 2(client), (client), 4(bufSpace))
(0, 0, 0, 0, 0, 0)

(T3, (bufSpace/b, client/c))/0

(2(factory), 4(factory), -, 3(client), -, 4(bufSpace))
(0, 0, 0, 0, 0, 0)

(T1, (factory/p))/0

(4(factory), 2(factory), (bufSpace), 3(client), -, 3(bufSpace))
(0, 0, 0, 0, 0, 0)

(T2, (bufSpace/b, factory/p))/0

(T1, (factory/p))/0

(6(factory), -, 2(bufSpace), 3(client), -, 2(bufSpace))
(0, 0, 0, 0, 0, 0)

(T2, (bufSpace/b, factory/p))/0

(5(factory), (factory), -, 2(client), (client), 4(bufSpace))
(0, 0, 0, 0, 0, 0)

(T3, (bufSpace/b, client/c))/0

(T4, (client/c))/0

(T1, (factory/p))/0

((factory), 5(factory), -, 3(client), -, 4(bufSpace))
(0, 0, 0, 0, 0, 0)

(T1, (factory/p))/0

(3(factory), 3(factory), (bufSpace), 3(client), -, 3(bufSpace))
(0, 0, 0, 0, 0, 0)

(T2, (bufSpace/b, factory/p))/0

(T1, (factory/p))/0

(5(factory), (factory), 2(bufSpace), 3(client), -, 2(bufSpace))
(0, 0, 0, 0, 0, 0)

(T2, (bufSpace/b, factory/p))/0

(4(factory), 2(factory), -, 2(client), (client), 4(bufSpace))
(0, 0, 0, 0, 0, 0)

(T3, (bufSpace/b, client/c))/0

(T1, (factory/p))/0

(6(factory), -, (bufSpace), 2(client), (client), 3(bufSpace))
(0, 0, 0, 0, 0, 0)

(T3, (bufSpace/b, client/c))/0

(T4, (client/c))/0

(T1, (factory/p))/0

(T2, (bufSpace/b, factory/p))/0

(-, 6(factory), -, 3(client), -, 4(bufSpace))
(0, 0, 0, 0, 0, 0)

(T1, (factory/p))/0

(2(factory), 4(factory), (bufSpace), 3(client), -, 3(bufSpace))
(0, 0, 0, 0, 0, 0)

(T2, (bufSpace/b, factory/p))/0

(T1, (factory/p))/0

(4(factory), 2(factory), 2(bufSpace), 3(client), -, 2(bufSpace))
(0, 0, 0, 0, 0, 0)

(T2, (bufSpace/b, factory/p))/0

(3(factory), 3(factory), -, 2(client), (client), 4(bufSpace))
(0, 0, 0, 0, 0, 0)

(T3, (bufSpace/b, client/c))/0

(T1, (factory/p))/0

(6(factory), -, 3(bufSpace), 3(client), -, (bufSpace))
(0, 0, 0, 0, 0, 0)

(T2, (bufSpace/b, factory/p))/0

(5(factory), (factory), (bufSpace), 2(client), (client), 3(bufSpace))
(0, 0, 0, 0, 0, 0)

(T3, (bufSpace/b, client/c))/0

(T4, (client/c))/0

(T1, (factory/p))/0

(T2, (bufSpace/b, factory/p))/0

(T4, (client/c))/0

(T1, (factory/p))/0

(6(factory), -, -, (client), 2(client), 4(bufSpace))
(0, 0, 0, 0, 0, 0)

(T3, (bufSpace/b, client/c))/0

((factory), 5(factory), (bufSpace), 3(client), -, 3(bufSpace))
(0, 0, 0, 0, 0, 0)

(T2, (bufSpace/b, factory/p))/0

(T1, (factory/p))/0

(3(factory), 3(factory), 2(bufSpace), 3(client), -, 2(bufSpace))
(0, 0, 0, 0, 0, 0)

(T2, (bufSpace/b, factory/p))/0

(2(factory), 4(factory), -, 2(client), (client), 4(bufSpace))
(0, 0, 0, 0, 0, 0)

(T3, (bufSpace/b, client/c))/0

(T1, (factory/p))/0

(5(factory), (factory), 3(bufSpace), 3(client), -, (bufSpace))
(0, 0, 0, 0, 0, 0)

(T2, (bufSpace/b, factory/p))/0

(4(factory), 2(factory), (bufSpace), 2(client), (client), 3(bufSpace))
(0, 0, 0, 0, 0, 0)

(T3, (bufSpace/b, client/c))/0

(T4, (client/c))/0

(T1, (factory/p))/0

(T2, (bufSpace/b, factory/p))/0

(T1, (factory/p))/0

(6(factory), -, 2(bufSpace), 2(client), (client), 2(bufSpace))
(0, 0, 0, 0, 0, 0)

(T3, (bufSpace/b, client/c))/0

(T4, (client/c))/0

(T1, (factory/p))/0

(T2, (bufSpace/b, factory/p))/0

(5(factory), (factory), -, (client), 2(client), 4(bufSpace))
(0, 0, 0, 0, 0, 0)

(T3, (bufSpace/b, client/c))/0

(T4, (client/c))/0(T1, (factory/p))/0

(-, 6(factory), (bufSpace), 3(client), -, 3(bufSpace))
(0, 0, 0, 0, 0, 0)

(T1, (factory/p))/0

(2(factory), 4(factory), 2(bufSpace), 3(client), -, 2(bufSpace))
(0, 0, 0, 0, 0, 0)

(T2, (bufSpace/b, factory/p))/0

((factory), 5(factory), -, 2(client), (client), 4(bufSpace))
(0, 0, 0, 0, 0, 0)

(T3, (bufSpace/b, client/c))/0

(T1, (factory/p))/0

(4(factory), 2(factory), 3(bufSpace), 3(client), -, (bufSpace))
(0, 0, 0, 0, 0, 0)

(T2, (bufSpace/b, factory/p))/0

(3(factory), 3(factory), (bufSpace), 2(client), (client), 3(bufSpace))
(0, 0, 0, 0, 0, 0)

(T3, (bufSpace/b, client/c))/0

(T4, (client/c))/0

(T1, (factory/p))/0

(T2, (bufSpace/b, factory/p))/0

(T1, (factory/p))/0

(6(factory), -, 4(bufSpace), 3(client), -, -)
(0, 0, 0, 0, 0, 0)

(T2, (bufSpace/b, factory/p))/0

(5(factory), (factory), 2(bufSpace), 2(client), (client), 2(bufSpace))
(0, 0, 0, 0, 0, 0)

(T3, (bufSpace/b, client/c))/0

(T4, (client/c))/0

(T1, (factory/p))/0

(T2, (bufSpace/b, factory/p))/0

(4(factory), 2(factory), -, (client), 2(client), 4(bufSpace))
(0, 0, 0, 0, 0, 0)

(T3, (bufSpace/b, client/c))/0 (T4, (client/c))/0

(T1, (factory/p))/0

(6(factory), -, (bufSpace), (client), 2(client), 3(bufSpace))
(0, 0, 0, 0, 0, 0)

(T3, (bufSpace/b, client/c))/0

(T4, (client/c))/0

(T1, (factory/p))/0

(T2, (bufSpace/b, factory/p))/0

((factory), 5(factory), 2(bufSpace), 3(client), -, 2(bufSpace))
(0, 0, 0, 0, 0, 0)

(T2, (bufSpace/b, factory/p))/0

(-, 6(factory), -, 2(client), (client), 4(bufSpace))
(0, 0, 0, 0, 0, 0)

(T3, (bufSpace/b, client/c))/0

(T1, (factory/p))/0

(3(factory), 3(factory), 3(bufSpace), 3(client), -, (bufSpace))
(0, 0, 0, 0, 0, 0)

(T2, (bufSpace/b, factory/p))/0

(2(factory), 4(factory), (bufSpace), 2(client), (client), 3(bufSpace))
(0, 0, 0, 0, 0, 0)

(T3, (bufSpace/b, client/c))/0

(T4, (client/c))/0

(T1, (factory/p))/0

(T2, (bufSpace/b, factory/p))/0

(T1, (factory/p))/0

(5(factory), (factory), 4(bufSpace), 3(client), -, -)
(0, 0, 0, 0, 0, 0)

(T2, (bufSpace/b, factory/p))/0

(4(factory), 2(factory), 2(bufSpace), 2(client), (client), 2(bufSpace))
(0, 0, 0, 0, 0, 0)

(T3, (bufSpace/b, client/c))/0

(T4, (client/c))/0

(T1, (factory/p))/0

(T2, (bufSpace/b, factory/p))/0

(3(factory), 3(factory), -, (client), 2(client), 4(bufSpace))
(0, 0, 0, 0, 0, 0)

(T3, (bufSpace/b, client/c))/0

(T1, (factory/p))/0

(6(factory), -, 3(bufSpace), 2(client), (client), (bufSpace))
(0, 0, 0, 0, 0, 0)

(T3, (bufSpace/b, client/c))/0

(T4, (client/c))/0

(T1, (factory/p))/0

(T2, (bufSpace/b, factory/p))/0

(5(factory), (factory), (bufSpace), (client), 2(client), 3(bufSpace))
(0, 0, 0, 0, 0, 0)

(T3, (bufSpace/b, client/c))/0

(T4, (client/c))/0

(T1, (factory/p))/0

(T2, (bufSpace/b, factory/p))/0

(T4, (client/c))/0

(T1, (factory/p))/0

(6(factory), -, -, -, 3(client), 4(bufSpace))
(0, 0, 0, 0, 0, 0)

(T3, (bufSpace/b, client/c))/0

(-, 6(factory), 2(bufSpace), 3(client), -, 2(bufSpace))
(0, 0, 0, 0, 0, 0)

(T1, (factory/p))/0

(2(factory), 4(factory), 3(bufSpace), 3(client), -, (bufSpace))
(0, 0, 0, 0, 0, 0)

(T2, (bufSpace/b, factory/p))/0

((factory), 5(factory), (bufSpace), 2(client), (client), 3(bufSpace))
(0, 0, 0, 0, 0, 0)

(T3, (bufSpace/b, client/c))/0

(T4, (client/c))/0

(T2, (bufSpace/b, factory/p))/0

(T1, (factory/p))/0

(4(factory), 2(factory), 4(bufSpace), 3(client), -, -)
(0, 0, 0, 0, 0, 0)

(T2, (bufSpace/b, factory/p))/0

(3(factory), 3(factory), 2(bufSpace), 2(client), (client), 2(bufSpace))
(0, 0, 0, 0, 0, 0)

(T3, (bufSpace/b, client/c))/0

(T4, (client/c))/0

(T1, (factory/p))/0

(T2, (bufSpace/b, factory/p))/0

(2(factory), 4(factory), -, (client), 2(client), 4(bufSpace))
(0, 0, 0, 0, 0, 0)

(T3, (bufSpace/b, client/c))/0

(T1, (factory/p))/0

(5(factory), (factory), 3(bufSpace), 2(client), (client), (bufSpace))
(0, 0, 0, 0, 0, 0)

(T3, (bufSpace/b, client/c))/0

(T4, (client/c))/0

(T1, (factory/p))/0

(T2, (bufSpace/b, factory/p))/0

(4(factory), 2(factory), (bufSpace), (client), 2(client), 3(bufSpace))
(0, 0, 0, 0, 0, 0)

(T3, (bufSpace/b, client/c))/0

(T4, (client/c))/0

(T1, (factory/p))/0

(T2, (bufSpace/b, factory/p))/0

(T4, (client/c))/0

(T1, (factory/p))/0

(6(factory), -, 2(bufSpace), (client), 2(client), 2(bufSpace))
(0, 0, 0, 0, 0, 0)

(T3, (bufSpace/b, client/c))/0

(T4, (client/c))/0

(T1, (factory/p))/0

(T2, (bufSpace/b, factory/p))/0

(5(factory), (factory), -, -, 3(client), 4(bufSpace))
(0, 0, 0, 0, 0, 0)

(T3, (bufSpace/b, client/c))/0

(T4, (client/c))/0

(T1, (factory/p))/0

((factory), 5(factory), 3(bufSpace), 3(client), -, (bufSpace))
(0, 0, 0, 0, 0, 0)

(T2, (bufSpace/b, factory/p))/0

(-, 6(factory), (bufSpace), 2(client), (client), 3(bufSpace))
(0, 0, 0, 0, 0, 0)

(T3, (bufSpace/b, client/c))/0

(T1, (factory/p))/0

(3(factory), 3(factory), 4(bufSpace), 3(client), -, -)
(0, 0, 0, 0, 0, 0)

(T2, (bufSpace/b, factory/p))/0

(2(factory), 4(factory), 2(bufSpace), 2(client), (client), 2(bufSpace))
(0, 0, 0, 0, 0, 0)

(T3, (bufSpace/b, client/c))/0

(T4, (client/c))/0

(T1, (factory/p))/0

(T2, (bufSpace/b, factory/p))/0

((factory), 5(factory), -, (client), 2(client), 4(bufSpace))
(0, 0, 0, 0, 0, 0)

(T3, (bufSpace/b, client/c))/0

(T1, (factory/p))/0

(4(factory), 2(factory), 3(bufSpace), 2(client), (client), (bufSpace))
(0, 0, 0, 0, 0, 0)

(T3, (bufSpace/b, client/c))/0

(T4, (client/c))/0

(T1, (factory/p))/0

(T2, (bufSpace/b, factory/p))/0

(3(factory), 3(factory), (bufSpace), (client), 2(client), 3(bufSpace))
(0, 0, 0, 0, 0, 0)

(T3, (bufSpace/b, client/c))/0

(T4, (client/c))/0

(T1, (factory/p))/0

(T2, (bufSpace/b, factory/p))/0

(T4, (client/c))/0

(T1, (factory/p))/0

(6(factory), -, 4(bufSpace), 2(client), (client), -)
(0, 0, 0, 0, 0, 0)

(T2, (bufSpace/b, factory/p))/0

(5(factory), (factory), 2(bufSpace), (client), 2(client), 2(bufSpace))
(0, 0, 0, 0, 0, 0)

(T3, (bufSpace/b, client/c))/0

(T4, (client/c))/0

(T1, (factory/p))/0

(T2, (bufSpace/b, factory/p))/0

(4(factory), 2(factory), -, -, 3(client), 4(bufSpace))
(0, 0, 0, 0, 0, 0)

(T3, (bufSpace/b, client/c))/0

(T4, (client/c))/0

(T1, (factory/p))/0

(6(factory), -, (bufSpace), -, 3(client), 3(bufSpace))
(0, 0, 0, 0, 0, 0)

(T3, (bufSpace/b, client/c))/0

(T4, (client/c))/0

(T1, (factory/p))/0

(T2, (bufSpace/b, factory/p))/0

(-, 6(factory), 3(bufSpace), 3(client), -, (bufSpace))
(0, 0, 0, 0, 0, 0)

(T1, (factory/p))/0

(2(factory), 4(factory), 4(bufSpace), 3(client), -, -)
(0, 0, 0, 0, 0, 0)

(T2, (bufSpace/b, factory/p))/0

((factory), 5(factory), 2(bufSpace), 2(client), (client), 2(bufSpace))
(0, 0, 0, 0, 0, 0)

(T3, (bufSpace/b, client/c))/0

(T4, (client/c))/0

(T2, (bufSpace/b, factory/p))/0

(-, 6(factory), -, (client), 2(client), 4(bufSpace))
(0, 0, 0, 0, 0, 0)

(T3, (bufSpace/b, client/c))/0

(T1, (factory/p))/0

(3(factory), 3(factory), 3(bufSpace), 2(client), (client), (bufSpace))
(0, 0, 0, 0, 0, 0)

(T3, (bufSpace/b, client/c))/0

(T4, (client/c))/0

(T1, (factory/p))/0

(T2, (bufSpace/b, factory/p))/0

(2(factory), 4(factory), (bufSpace), (client), 2(client), 3(bufSpace))
(0, 0, 0, 0, 0, 0)

(T3, (bufSpace/b, client/c))/0

(T4, (client/c))/0

(T1, (factory/p))/0

(T2, (bufSpace/b, factory/p))/0

(T4, (client/c))/0

(T1, (factory/p))/0

(5(factory), (factory), 4(bufSpace), 2(client), (client), -)
(0, 0, 0, 0, 0, 0)

(T2, (bufSpace/b, factory/p))/0

(4(factory), 2(factory), 2(bufSpace), (client), 2(client), 2(bufSpace))
(0, 0, 0, 0, 0, 0)

(T3, (bufSpace/b, client/c))/0

(T4, (client/c))/0

(T1, (factory/p))/0

(T2, (bufSpace/b, factory/p))/0

(3(factory), 3(factory), -, -, 3(client), 4(bufSpace))
(0, 0, 0, 0, 0, 0)

(T3, (bufSpace/b, client/c))/0

(T4, (client/c))/0

(T1, (factory/p))/0

(6(factory), -, 3(bufSpace), (client), 2(client), (bufSpace))
(0, 0, 0, 0, 0, 0)

(T3, (bufSpace/b, client/c))/0

(T4, (client/c))/0

(T1, (factory/p))/0

(T2, (bufSpace/b, factory/p))/0

(5(factory), (factory), (bufSpace), -, 3(client), 3(bufSpace))
(0, 0, 0, 0, 0, 0)

(T3, (bufSpace/b, client/c))/0

(T4, (client/c))/0

(T1, (factory/p))/0

(T2, (bufSpace/b, factory/p))/0

(T4, (client/c))/0

(T1, (factory/p))/0

((factory), 5(factory), 4(bufSpace), 3(client), -, -)
(0, 0, 0, 0, 0, 0)

(T2, (bufSpace/b, factory/p))/0

(-, 6(factory), 2(bufSpace), 2(client), (client), 2(bufSpace))
(0, 0, 0, 0, 0, 0)

(T3, (bufSpace/b, client/c))/0

(T1, (factory/p))/0

(2(factory), 4(factory), 3(bufSpace), 2(client), (client), (bufSpace))
(0, 0, 0, 0, 0, 0)

(T3, (bufSpace/b, client/c))/0

(T4, (client/c))/0

(T1, (factory/p))/0

(T2, (bufSpace/b, factory/p))/0

((factory), 5(factory), (bufSpace), (client), 2(client), 3(bufSpace))
(0, 0, 0, 0, 0, 0)

(T3, (bufSpace/b, client/c))/0

(T4, (client/c))/0

(T2, (bufSpace/b, factory/p))/0

(T4, (client/c))/0

(T1, (factory/p))/0

(4(factory), 2(factory), 4(bufSpace), 2(client), (client), -)
(0, 0, 0, 0, 0, 0)

(T2, (bufSpace/b, factory/p))/0

(3(factory), 3(factory), 2(bufSpace), (client), 2(client), 2(bufSpace))
(0, 0, 0, 0, 0, 0)

(T3, (bufSpace/b, client/c))/0

(T4, (client/c))/0

(T1, (factory/p))/0

(T2, (bufSpace/b, factory/p))/0

(2(factory), 4(factory), -, -, 3(client), 4(bufSpace))
(0, 0, 0, 0, 0, 0)

(T3, (bufSpace/b, client/c))/0

(T4, (client/c))/0

(T1, (factory/p))/0

(5(factory), (factory), 3(bufSpace), (client), 2(client), (bufSpace))
(0, 0, 0, 0, 0, 0)

(T3, (bufSpace/b, client/c))/0

(T4, (client/c))/0

(T1, (factory/p))/0

(T2, (bufSpace/b, factory/p))/0

(4(factory), 2(factory), (bufSpace), -, 3(client), 3(bufSpace))
(0, 0, 0, 0, 0, 0)

(T3, (bufSpace/b, client/c))/0

(T4, (client/c))/0

(T1, (factory/p))/0

(T2, (bufSpace/b, factory/p))/0

(T4, (client/c))/0

(T1, (factory/p))/0

(6(factory), -, 2(bufSpace), -, 3(client), 2(bufSpace))
(0, 0, 0, 0, 0, 0)

(T3, (bufSpace/b, client/c))/0

(T4, (client/c))/0

(T1, (factory/p))/0

(T2, (bufSpace/b, factory/p))/0

(-, 6(factory), 4(bufSpace), 3(client), -, -)
(0, 0, 0, 0, 0, 0)

(T1, (factory/p))/0

((factory), 5(factory), 3(bufSpace), 2(client), (client), (bufSpace))
(0, 0, 0, 0, 0, 0)

(T3, (bufSpace/b, client/c))/0

(T4, (client/c))/0

(T2, (bufSpace/b, factory/p))/0

(-, 6(factory), (bufSpace), (client), 2(client), 3(bufSpace))
(0, 0, 0, 0, 0, 0)

(T3, (bufSpace/b, client/c))/0

(T4, (client/c))/0

(T1, (factory/p))/0

(3(factory), 3(factory), 4(bufSpace), 2(client), (client), -)
(0, 0, 0, 0, 0, 0)

(T2, (bufSpace/b, factory/p))/0

(2(factory), 4(factory), 2(bufSpace), (client), 2(client), 2(bufSpace))
(0, 0, 0, 0, 0, 0)

(T3, (bufSpace/b, client/c))/0

(T4, (client/c))/0

(T1, (factory/p))/0

(T2, (bufSpace/b, factory/p))/0

((factory), 5(factory), -, -, 3(client), 4(bufSpace))
(0, 0, 0, 0, 0, 0)

(T3, (bufSpace/b, client/c))/0

(T4, (client/c))/0

(T1, (factory/p))/0

(4(factory), 2(factory), 3(bufSpace), (client), 2(client), (bufSpace))
(0, 0, 0, 0, 0, 0)

(T3, (bufSpace/b, client/c))/0

(T4, (client/c))/0

(T1, (factory/p))/0

(T2, (bufSpace/b, factory/p))/0

(3(factory), 3(factory), (bufSpace), -, 3(client), 3(bufSpace))
(0, 0, 0, 0, 0, 0)

(T3, (bufSpace/b, client/c))/0

(T4, (client/c))/0

(T1, (factory/p))/0

(T2, (bufSpace/b, factory/p))/0

(T4, (client/c))/0

(T1, (factory/p))/0

(6(factory), -, 4(bufSpace), (client), 2(client), -)
(0, 0, 0, 0, 0, 0)

(T2, (bufSpace/b, factory/p))/0

(5(factory), (factory), 2(bufSpace), -, 3(client), 2(bufSpace))
(0, 0, 0, 0, 0, 0)

(T3, (bufSpace/b, client/c))/0

(T4, (client/c))/0

(T1, (factory/p))/0 (T2, (bufSpace/b, factory/p))/0

(T4, (client/c))/0

(T1, (factory/p))/0

(-, 6(factory), 3(bufSpace), 2(client), (client), (bufSpace))
(0, 0, 0, 0, 0, 0)

(T3, (bufSpace/b, client/c))/0

(T4, (client/c))/0

(T1, (factory/p))/0

(2(factory), 4(factory), 4(bufSpace), 2(client), (client), -)
(0, 0, 0, 0, 0, 0)

(T2, (bufSpace/b, factory/p))/0

((factory), 5(factory), 2(bufSpace), (client), 2(client), 2(bufSpace))
(0, 0, 0, 0, 0, 0)

(T3, (bufSpace/b, client/c))/0

(T4, (client/c))/0

(T2, (bufSpace/b, factory/p))/0

(-, 6(factory), -, -, 3(client), 4(bufSpace))
(0, 0, 0, 0, 0, 0)

(T3, (bufSpace/b, client/c))/0

(T4, (client/c))/0

(T1, (factory/p))/0

(3(factory), 3(factory), 3(bufSpace), (client), 2(client), (bufSpace))
(0, 0, 0, 0, 0, 0)

(T3, (bufSpace/b, client/c))/0

(T4, (client/c))/0

(T1, (factory/p))/0

(T2, (bufSpace/b, factory/p))/0

(2(factory), 4(factory), (bufSpace), -, 3(client), 3(bufSpace))
(0, 0, 0, 0, 0, 0)

(T3, (bufSpace/b, client/c))/0

(T4, (client/c))/0

(T1, (factory/p))/0

(T2, (bufSpace/b, factory/p))/0

(T4, (client/c))/0

(T1, (factory/p))/0

(5(factory), (factory), 4(bufSpace), (client), 2(client), -)
(0, 0, 0, 0, 0, 0)

(T2, (bufSpace/b, factory/p))/0

(4(factory), 2(factory), 2(bufSpace), -, 3(client), 2(bufSpace))
(0, 0, 0, 0, 0, 0)

(T3, (bufSpace/b, client/c))/0

(T4, (client/c))/0

(T1, (factory/p))/0

(T2, (bufSpace/b, factory/p))/0

(T4, (client/c))/0

(T1, (factory/p))/0

(6(factory), -, 3(bufSpace), -, 3(client), (bufSpace))
(0, 0, 0, 0, 0, 0)

(T3, (bufSpace/b, client/c))/0

(T4, (client/c))/0

(T1, (factory/p))/0

(T2, (bufSpace/b, factory/p))/0

(T4, (client/c))/0

((factory), 5(factory), 4(bufSpace), 2(client), (client), -)
(0, 0, 0, 0, 0, 0)

(T2, (bufSpace/b, factory/p))/0

(-, 6(factory), 2(bufSpace), (client), 2(client), 2(bufSpace))
(0, 0, 0, 0, 0, 0)

(T3, (bufSpace/b, client/c))/0

(T4, (client/c))/0

(T1, (factory/p))/0

(2(factory), 4(factory), 3(bufSpace), (client), 2(client), (bufSpace))
(0, 0, 0, 0, 0, 0)

(T3, (bufSpace/b, client/c))/0

(T4, (client/c))/0

(T1, (factory/p))/0

(T2, (bufSpace/b, factory/p))/0

((factory), 5(factory), (bufSpace), -, 3(client), 3(bufSpace))
(0, 0, 0, 0, 0, 0)

(T3, (bufSpace/b, client/c))/0

(T4, (client/c))/0

(T2, (bufSpace/b, factory/p))/0

(T4, (client/c))/0(T1, (factory/p))/0

(4(factory), 2(factory), 4(bufSpace), (client), 2(client), -)
(0, 0, 0, 0, 0, 0)

(T2, (bufSpace/b, factory/p))/0

(3(factory), 3(factory), 2(bufSpace), -, 3(client), 2(bufSpace))
(0, 0, 0, 0, 0, 0)

(T3, (bufSpace/b, client/c))/0

(T4, (client/c))/0

(T1, (factory/p))/0

(T2, (bufSpace/b, factory/p))/0

(T4, (client/c))/0

(T1, (factory/p))/0

(5(factory), (factory), 3(bufSpace), -, 3(client), (bufSpace))
(0, 0, 0, 0, 0, 0)

(T3, (bufSpace/b, client/c))/0

(T4, (client/c))/0

(T1, (factory/p))/0

(T2, (bufSpace/b, factory/p))/0

(T4, (client/c))/0

(T1, (factory/p))/0

(T4, (client/c))/0

(-, 6(factory), 4(bufSpace), 2(client), (client), -)
(0, 0, 0, 0, 0, 0)

(T1, (factory/p))/0

((factory), 5(factory), 3(bufSpace), (client), 2(client), (bufSpace))
(0, 0, 0, 0, 0, 0)

(T3, (bufSpace/b, client/c))/0

(T4, (client/c))/0

(T2, (bufSpace/b, factory/p))/0

(-, 6(factory), (bufSpace), -, 3(client), 3(bufSpace))
(0, 0, 0, 0, 0, 0)

(T3, (bufSpace/b, client/c))/0

(T4, (client/c))/0

(T1, (factory/p))/0

(3(factory), 3(factory), 4(bufSpace), (client), 2(client), -)
(0, 0, 0, 0, 0, 0)

(T2, (bufSpace/b, factory/p))/0

(2(factory), 4(factory), 2(bufSpace), -, 3(client), 2(bufSpace))
(0, 0, 0, 0, 0, 0)

(T3, (bufSpace/b, client/c))/0

(T4, (client/c))/0

(T1, (factory/p))/0

(T2, (bufSpace/b, factory/p))/0

(T4, (client/c))/0

(T1, (factory/p))/0

(4(factory), 2(factory), 3(bufSpace), -, 3(client), (bufSpace))
(0, 0, 0, 0, 0, 0)

(T3, (bufSpace/b, client/c))/0

(T4, (client/c))/0

(T1, (factory/p))/0

(T2, (bufSpace/b, factory/p))/0

(T4, (client/c))/0

(T1, (factory/p))/0

(6(factory), -, 4(bufSpace), -, 3(client), -)
(0, 0, 0, 0, 0, 0)

(T2, (bufSpace/b, factory/p))/0

(T4, (client/c))/0

(-, 6(factory), 3(bufSpace), (client), 2(client), (bufSpace))
(0, 0, 0, 0, 0, 0)

(T3, (bufSpace/b, client/c))/0

(T4, (client/c))/0

(T1, (factory/p))/0

(2(factory), 4(factory), 4(bufSpace), (client), 2(client), -)
(0, 0, 0, 0, 0, 0)

(T2, (bufSpace/b, factory/p))/0

((factory), 5(factory), 2(bufSpace), -, 3(client), 2(bufSpace))
(0, 0, 0, 0, 0, 0)

(T3, (bufSpace/b, client/c))/0

(T4, (client/c))/0

(T2, (bufSpace/b, factory/p))/0

(T4, (client/c))/0

(T1, (factory/p))/0

(3(factory), 3(factory), 3(bufSpace), -, 3(client), (bufSpace))
(0, 0, 0, 0, 0, 0)

(T3, (bufSpace/b, client/c))/0

(T4, (client/c))/0

(T1, (factory/p))/0

(T2, (bufSpace/b, factory/p))/0

(T4, (client/c))/0

(T1, (factory/p))/0

(5(factory), (factory), 4(bufSpace), -, 3(client), -)
(0, 0, 0, 0, 0, 0)

(T2, (bufSpace/b, factory/p))/0

(T4, (client/c))/0

(T1, (factory/p))/0

(T4, (client/c))/0

((factory), 5(factory), 4(bufSpace), (client), 2(client), -)
(0, 0, 0, 0, 0, 0)

(T2, (bufSpace/b, factory/p))/0

(-, 6(factory), 2(bufSpace), -, 3(client), 2(bufSpace))
(0, 0, 0, 0, 0, 0)

(T3, (bufSpace/b, client/c))/0 (T4, (client/c))/0

(T1, (factory/p))/0

(2(factory), 4(factory), 3(bufSpace), -, 3(client), (bufSpace))
(0, 0, 0, 0, 0, 0)

(T3, (bufSpace/b, client/c))/0

(T4, (client/c))/0

(T1, (factory/p))/0

(T2, (bufSpace/b, factory/p))/0

(T4, (client/c))/0

(T1, (factory/p))/0

(4(factory), 2(factory), 4(bufSpace), -, 3(client), -)
(0, 0, 0, 0, 0, 0)

(T2, (bufSpace/b, factory/p))/0

(T4, (client/c))/0

(T1, (factory/p))/0

(T4, (client/c))/0

(-, 6(factory), 4(bufSpace), (client), 2(client), -)
(0, 0, 0, 0, 0, 0)

(T1, (factory/p))/0

((factory), 5(factory), 3(bufSpace), -, 3(client), (bufSpace))
(0, 0, 0, 0, 0, 0)

(T3, (bufSpace/b, client/c))/0

(T4, (client/c))/0

(T2, (bufSpace/b, factory/p))/0 (T4, (client/c))/0

(T1, (factory/p))/0

(3(factory), 3(factory), 4(bufSpace), -, 3(client), -)
(0, 0, 0, 0, 0, 0)

(T2, (bufSpace/b, factory/p))/0

(T4, (client/c))/0

(T1, (factory/p))/0

(T4, (client/c))/0

(-, 6(factory), 3(bufSpace), -, 3(client), (bufSpace))
(0, 0, 0, 0, 0, 0)

(T3, (bufSpace/b, client/c))/0

(T4, (client/c))/0

(T1, (factory/p))/0

(2(factory), 4(factory), 4(bufSpace), -, 3(client), -)
(0, 0, 0, 0, 0, 0)

(T2, (bufSpace/b, factory/p))/0

(T4, (client/c))/0 (T1, (factory/p))/0

(T4, (client/c))/0

((factory), 5(factory), 4(bufSpace), -, 3(client), -)
(0, 0, 0, 0, 0, 0)

(T2, (bufSpace/b, factory/p))/0

(T4, (client/c))/0

(T1, (factory/p))/0

(T4, (client/c))/0

(-, 6(factory), 4(bufSpace), -, 3(client), -)
(0, 0, 0, 0, 0, 0)

(T1, (factory/p))/0

(T4, (client/c))/0


